
SHAPE
Storage
Montering hängande modul– Installation of hanging unit

Date:

2023-12-12
Nr:

00530283-A

1



Montering hängande modul
Installation of hanging unit

Montera bort eventuella luckor på de moduler som ska monteras samman för att underlätta vid montaget.
Remove any doors on the modules to be assembled together to facilitate assembly..

För att kunna skruva samman modulerna så måste genomgående hål borras i sidorna. Detta med så stort 
avstånd från varandra som möjligt i de sammankopplande modulerna. Observera att beroende på utförande 
av lås (se fig. 02) och luckstorlekar så måste hänsyn tas till både låsbleck och gångjärn. I vissa fall går det 
bara att ha en skruv i den främre hålraden. Borra med Ø5mm borr genom hålet i hålraden, 3-4st hål per 
sida.
To be able to screw the modules together, through holes must be drilled in the sides. This with as great a 
distance from each other as possible in the connecting modules. Please note that depending on the design of 
the lock (fig. 02) and door sizes, both the lock plate and the hinge must be taken into account. In some cases, 
it is only possible to have one screw in the front row of holes. Drill with a Ø5mm drill through the hole in the 
row of holes, 3-4 holes per side.

Montera modulerna i varandra med skruvhylsan från den hängande enhetens håll. Skruva från andra 
modulens sida medföljande M4x20 skruv.
Mount the modules into each other with the screw sleeve from the side of the hanging unit. Screw from the 
other module's side with the included M4x20 screw..

Fig. 01

Fig. 02 Fig. 03

Fig. 04

2



När modulerna monterats ihop skall förstärkningsplåten i metall monteras ca 25mm från ytterkant med 
medföljande skruv 5,0x16mm. Börja med skruven i mitten och fortsätt därefter ut mot varje ände. Avsluta 
med de skruvar som skruvas in i sidan på intilliggande modul.
When the modules have been assembled together, the metal reinforcement plate must be mounted approx. 
25mm from the outer edge with the included screw 5.0x16mm. Start with the screw in the middle and then 
continue out towards each end. Finish with the screws that are screwed into the side of the adjacent module.

Montera därefter dekorlisten på samma sätt som förstärkningsplåten. Börja med hålet i mitten och gå ut 
mot ändarna.
Then mount the decorative strip in the same way as the reinforcement plate. Start with the hole in the 
middle and work your way out to the ends..

1 2 3 4234

Fig. 05

Fig. 06

3


	00530283-A
	Slide 1 
	Slide 2 
	Slide 3 


